#include<stdio.h>
int main (){
int horisontaalpikkus, vertikaalpikkus;
int hoidla[10][10];
int x, y;
int abimuutuja;
int hetkearv;
int a,b;
do{
x=-1;y=0;
hetkearv=1;
printf("Sisesta horisontaalpikkus: ");
scanf("%i",&horisontaalpikkus);
printf("Sisesta vertikaalpikkus: ");
scanf("%i",&vertikaalpikkus);
a=horisontaalpikkus;
b=vertikaalpikkus;
       while(vertikaalpikkus>0&&horisontaalpikkus>0){
       abimuutuja=horisontaalpikkus;
         while(abimuutuja>0){
         x++;
         hoidla[x][y]=hetkearv;
         abimuutuja=abimuutuja-1;                                 
         }
       vertikaalpikkus=vertikaalpikkus-1;
       hetkearv++;
       abimuutuja=vertikaalpikkus;
         while(abimuutuja>0){
         y++;
         hoidla[x][y]=hetkearv;
         abimuutuja=abimuutuja-1;                                 
         }
       horisontaalpikkus=horisontaalpikkus-1;
       hetkearv++;
       abimuutuja=horisontaalpikkus;
         while(abimuutuja>0){
         x=x-1;
         hoidla[x][y]=hetkearv;
         abimuutuja=abimuutuja-1;                                 
         }
       vertikaalpikkus=vertikaalpikkus-1;
       hetkearv++;
       abimuutuja=vertikaalpikkus;
         while(abimuutuja>0){
         y=y-1;
         hoidla[x][y]=hetkearv;
         abimuutuja=abimuutuja-1;                                 
         }
       horisontaalpikkus=horisontaalpikkus-1;
       hetkearv++;
       }
     for(y=0;y<b;y++){
         for (x=0;x<a;x++){
         printf("%i",hoidla[x][y]);
         }
         printf("\n");
     }
}while(a>1&&b>1);
}
